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20128 XK 20E3 Ak 2069 Ak

20% 3 AR (BE)

(1) BB EARLLR(F—HHE) 10.32 A 0.24 10.56 10. 25
Tier I & 7.68 0.74 6. 94 7.08
(2)Tier 1 46, 830 3,015 43, 815 44,913
(3) Tier I 23,442 | A 6,777 30, 219 27, 468
(4)¥ERRIEE 7,313 A 65 7,378 7,310
(5)ETEAR(2)+(3)-(4) 62,959 | A 3,696 66, 655 65, 071
(B)YRY-THubZE 609, 600 | A 21,573 631,173 634, 325
(DHRFFEBCEAREE(6) X8% 48,768 | A 1,726 50, 494 50, 746
(=HERBITELE) (B {BA. %)
20128 %K 20E3 Ak 2069 AKX

205 3 AR BE)

() BB CEARL R (ERH—E%E) 11.91 A 0.28 12.19 11.90
Tier I e 8.42 0.79 7.63 7.88
(2)Tier 1 48,595 3, 551 45, 044 46, 931
(3)Tier I 23,225 | A 7,111 30, 336 27,592
(4)¥ERRIEH 3,074 A 322 3, 396 3, 643
(5)BETEAR(2)+(3)-(4) 68,746 | A 3,238 71,984 70, 880
(B))RZ-THybZE 577,085 | A 13,052 590, 137 595, 189
(DRFFEBCEAREE(6) X8% 46,167 | A 1,044 47, 211 47,615
(=HERIBITERK] (B {EA. %)
205128 K _ 2043 Ak 2049 Ak

20% 3 AR BE)

(MEBEKBCEARLE (ERH—E%E) 11.89 A 0.78 12.67 12.50
Tier I b 7.28 0. 01 7.27 7.22
(2)Tier 1 38, 384 757 37,627 37,529
(3) Tier I 26,848 | A 3,774 30, 622 30,176
(4)¥ERRIEE 2,538 A 186 2,724 2,705
(5)ETEAR(2)+(3)-(4) 62,694 | A 2,830 65, 524 65, 000
(B)YURY-THIbE 527,107 10, 119 516, 988 519, 639
(DRFFEBCEAREE(6) X8% 42,169 810 41, 359 41,571
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